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1. @emg@éfuaﬂ petefl afleuysens Glee apabd CeuelliLu@ss Wwesdlusgeubd seHGDmD
A)  wen. eflendml LD B) el aferdasl uLb
C) @&@Qmw‘m Glaeieusid D) 2 @meuliul efendats LD,
We prg;{er to present interval data by
A] b?r chart B)  pie chart

C)  histogram D)  pictogram.

2. l-oegalyssrd semeaow ssEO0 eurliurG L0

i
v{IN iN
-, [100 _ B) (4100 "
A Yo+ | A ] A
) o f © C
C)  ygHub D)  @eupper agapbldee.
- Fo:\lr‘m%__!g'lblz calculating l-th percentile is
Y \ N
e -em e -m
A) Ay 100 B) Iy + 100
A) S ‘ C
C) zcégo ' D}  'none of these.

3. &® G\erf@ yerefleleuriv Hphg e suglysae QubDEsmsiie Gihs e

BT SHeootdlL. (LpiguIT g

A) mé@mm B)  wa@
c) QD | b) S.D.
If the ngfc"_)_uped.data has open end classes; we cannot calcuiatc ,
A) n@&;dian B} mode
c) gb. D) . S.D.
X ‘ : (161] | | Turn over
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4. @ Quablome uraedla, 2l e eTauTE gl

A)

C)

U-eung eunmest g«

Z-811q 81D enT g

A normal frequency curve is usually

A)

C)

U-shaped

Z-shaped -

B)

D)

B)

D)

V-61L1g. LT 65T Gy

DN 6L QLILDTEDT .

V-shaped

Bell shaped.

5. Gpirweop CamiL ureuedlé &passoL. swaadllie erg &flwbmg

A)

C)

For a positively skewed distribution which of the following inequalities does not

e blaoe > (psh

gymefl > Qe _Hlene

B)

D)

w&® > sgrsfl

symefl > ps@

hold ?
A) Median > mode B) Mode > mean
C) Mean > median D)  Mean > mode.
6. LD s IJETaeusHetle sl (WeapWle saoTedl & sag wig)
A) S edeusksid B) «ofés
C) aless eurde sgmefl D)  smeinma aleudaibd,

Out of all measures of dispersion the easiest one to calculate is

A)

C)

X | 7004

standard deviation

variance

B)

D)

range

quartile deviation.
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1. 2*3 ......... n asnp arcmamefian s1.@4 sgaed
T, \
{n+1)2n + 1) g el
6 2
¢ mnedne?) | DR
2 _ 2
The ﬁ;ithmetic mean of the numbers 1, 2. 3, ........ nis
? .
A n(n + l)(2n +1) | B) n(n +1)
. 6 _ 2
o i E(n +1)n+2) oy D
- 2 . ‘ 2

T

@mie;a} syneflurd @oEnhs WeHupgiad Sunious

A) ;;eﬂ@w w6 B] Gpiweop wéliyser

i

C) iwdlifwep wdliyser D)  Quilu wdliyser.

Ham:gpnic mean gives less weightage to

A) _.fsmall values | B) ° positive values
C) ag;;‘fnegative values ,D) larger values.
@sﬁ@é};m@ ammﬂﬁ)@@. e &gn&rﬁé’@m @eoLCu 2 efer
mﬁé@'?gﬂs&r LN EAAESTYS

A) L&&a i awon s GmeeD ' B) lal,éuJL'D

C) . 55\5, GODEITS: QméEgd D) | D

Sum of squares of the deviations about the mean is

o

A} -E‘naximum B) Zero
C) r‘:ninimum D) one.
x[TO04]
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10. @eLhoadambs QupiulL gpuenwwrea elassissildar sl Hoblerams
A} Se gdebd ‘Bl ey
C) ble @omney D}  ygub.
Sum of the absolute deviations about the median is
A) maximum B) one
C) minimum . D)  zero.

11, vl eueylulL $&ler epevd &HeworQUlgbas sugu wdliiy
A) sl B&egmaf B) @eLdlene
C) Garlcid D) wpsh.
Histogram is useful to determine graphically the value of
A) mean B) median
C) skewness D} mode.

12. @ urewde ahs wduemus sl wHp aauss Fors sTaETULESDGET 2bs

eTeosT e 6br @uwit
A} @ ko B) Qumée syrefl
Cl @seh D) (pETIDTEUS) HTEIDTEIID.

In a distribution, the value around which the items tend to be most heavily

concentrated is called
A) median B) geometric mean

C) mode D) third quartile.

x [7004]
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@@Em@bﬁﬂ@ 2 _ehem 50 wrewieui sefley 40 wraTeuTser Carsdl Qubment. BeuTaer

Quibp syref wHliGues 6. Sybs cugtiid 2 eier Cwrpe wrasatse Qubn symsfl
ﬁﬁd@.ueﬁm 55 aresiles G 64 Guprs wremeutseilen symefl LU

A} 48 B) 35
C) g, 30 D} 2:8.

In.a:class test 40 students out of 50 passed with mean marks 6 and the overall
3. .
ave:z;jige of class marks was 5'5. The average marks of students who failed were

A 48 Bl 35

) 3-0 D) 28

gsgaﬁ]é;g_merr mn@u&LmLQ) Qaressefissd uu;ne&ru@Lb @ aeflu sGhS aeruULD
A) _fJL;smL suenmuL0 -

B} qa'raﬂéa @Dl G0 UL

C) 7‘%&@@@6&7 LTS LI 6L euemyLI_iD

D) giso‘ﬂ UL emL eueFLULLD.

A simple graph that is particularly suited to summarize the variability in the

data i-s_mcalled

i
A) ,lij_stogram ' B) dot plot
C) fxé{equcncy polygon D)  bar diagram.

0] wrpflér n - 1 vEiyser n s Sl UNGSMTED UGSGMR S S

QL6
A) HITEO D67 60618 61T B)  u@l uenemeusmel
C}  UBBTEEUSS D) prbpeveveasst.

The set ii)f n - 1 values of a variable that partition it into a number n of equal

proportigns constitutes
A} quartiles ' , B}  quantiles

C) deciles D)  percentiles.

x {7004 ' ] 101 [ Turn over
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16. (@b () e1egor erediiigy
A) 2 .Dey DAMILITUIS 6T DjeTamew B) g dpuy eusmswrer symai
C) @ 556l 2.060 D) @eoeu ST HEID.
Index number is a
A) measure of relative changes B)  a special type of an average
C)  a percentage relative D}  all of these.
17.  sleonéd Qe ysHud aafid, Mepoleuds suamenGar®
A)  fhel glem_wnergy B) @ond sl.enLwreang
C) Qua sl wreig D) @eubmst ergapbléveney.
If the co-efficient of kurtosis is zero. then the frequency curve is
A} Leptokﬁrtic B)  Platykurtic
C) Mesokurtic D)  None of these.

18. uigue I oo ulgued I 261 Quresd, £8p Qar@ssuupeen gdiuipsaenens
Qaneo @ sfluren eleoL owg Carbsd :

ulligwes I ulque II
&7ey e &
a) urellend, Hpb, salvalls Sputudy 1. GeL Geued

b)  uerefilés gyeuflans wdiy,

T gieugdier siodliy 2. alpd
c) mriseriy Crrd, @&&gwyb 3. Quuieuens
d} =z wijb. eremL , . 4. afloe aume
GhluiRser :
a b c d
A1 2 3 4
B) 2 3 4 1
C) 3 4 1 2
D) 4 3 1 2.
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- ‘ListT List IT
# A
Data ‘ Type
a) Sex, colour, personality 1. Interval
b) Rank in school, military rank 2. Ratio
c¢) Calendar iime, altitude 3. Nominal
d) Height, weight 4. Ordinal.
Codes -
a b c d

" AL.g‘L 1 2 _3 4
B) - 2 3 4 1
3 a4 1 2
D) . 4 3 1 2.

19. g sredé Bedn wdiy, BiGuE wdiy wopCu 73 Lppn 139 ey Gomler,
@ Qeuell wdliiy 3 aein eaubg peTopGuredn alesEh auGUUSET &osame
SEDEHQTD 7

C 4
A) o~ 20 B) 21
c)y 22 ’ D) 32
If the smallest and largest observations in a data are respectively 73 and 139,
| hqvﬁ many mutually exclusive classes can be formed of width 3 each ?
A} . 20 ‘ B) 21l
Cy 22 ‘ ' D) 32.
x[7004] . 101. { Turn ovér
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20.

21.

QHETRSHSULLL sahmbsHamers selwildaab
1 yereNflwes ereiTLgeT QLTEHET e80T ST D4GLD

ii. ey Caafliy. uglurley, smssm alasad Nsse 9 duaIDnéans

et emtdlwey (pemmaei 2 eliene
i, yereflllwd adiig 2 isgaoitaame syHalud o @b

iv. yerefiud setug IMEGsRs@ame Sialuer@b.

@\eubmst :
A) () wpod (it) sflure gy B} (i) wpHgyd (iti) & flurereney
C) i) b (iv) efurer e D) tiv) wdnb () sfureae.

Which of the following statements are true ?
i Statistics means numerical data only

if. Statistical methods are meant for collection, analysis and
interpretation of data

ifi. Statistics is an inductive science

iv. Statistics is a deductive science.

A) (i} and (ii) B) (ii) and (iii)
C) (tii) and (iv) ‘ D} {iv) and (i).
QLumSSHL Lyaus (—;-) Hyewds X = 1. 2, L. &1 (e -
A) 1 1B) 0
cy 2 D) srew Querg.
1 X
The mode of the Geometric distribution [-2—) forx=1,2, ... is
A} 1 B} O
Q) 2 : | D)  does not exist.

x [756%]
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z,
(x: §: )-en Glemeun Ligeuds iy, Sparamib abs Blapsaalbe sonrerg; 2
N H
A), P{X=x.Y=y) B) P{Xsx.Ysy)
C) " P(Xsx.Y=y) D) P(Xzx.Yzy)
Jo}m; distribution tunction of { x. y ) is equivalent to the probability
A) P X=xY=y) B) P(Xsx,Ysy)
C) “P(X=x.Y=y) ' D) P(Xax.Yzyl
S{x. 4 ) Qe oLiihd) gty aale Y-d1 grd sripe oL tsdl smiy X = x yag
.__'E#.\ *
A) * :42 S{x.y) B) [ f(xy)dy
cr J S{x.y)ax D [ [ fxyaxdy
For tljc' joint probability density function f ( x, y ) the marginal p. d. f. of Y when
X=xis
A) ‘z Sf(x.y) B) ff(x.y)dy
C) é‘f S{x. y)dx D) ff_f(x.y)dx dy.
XY &rir'_r'nﬁ]s;)rr wridiser erafler, epibdles @alley ugeuer amiy F, ,(x. y)-4@ swwrerg
A)  Fy(x) F.(y) Bl P[Xsx Ysy]
- :
C) (A wpoib (B) Gy Bib D) (A)whpid (B) Gy Gid Gléee.
Iif X and Y are independent. the cumulative distribution function ﬂ._y(x. y) is
equal to
A) é‘Fx (x) K, (y) B} P[X sx, Ys y]

C): - :b;“fnh tA) and (B) D) neither {A) nor (B).

[ Turn over
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25.

26,

27.

X g greson. b wrll, £ x ) 2@t Napesey o thHl sriued aafie EE(] aTHEH
SIe LW UGSsLLGSIng ?
A} 8l sgred B) apriwrend syrefl

C) Qumbe sgred D} el sl @ sgrefl.

If X is a random variable and f( x }is its p. d. f., E[-}}(—] is used to find

A) Arithmetic mean B) Harmonic mean

C) Geometric mean D}  Weighted arithmetic mean.
Qarerent blapsaey cuspuaglilss Seniwresid

A) guweun iy Hleps Sesir B)  entubp Mlepédeer

C) (A) wbHmyd (13) @)y oo G D) (A)wbmid (B] @\ a1 (b @levemen.
The classical definition of probability is based oﬁ the assumption of

A) Equally likely B)  Independence

C) Both ‘l/\) and (B} I.j) Ncilher {A) nor (B).

Ay B uyb smiupm Bleps e aafla

A) P[AﬁB):P(A/B)P(A) E’;) P(ANB))=P[A)P(B)
C) P(ANB})=P(B/A)P(B) D) P(ANB}=P[A)+P(B}
If A and B are independent events then

A) PIANB)Y=PLA/BIPLA) B) I’lAﬁ13)=PlA)-PlB-]

C) PIANB)I=P(B/A)P(B) D) PiANB)=P(A)+P(B).

x (7004
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28. BC Aaale P(A)as@b P B)useb 2 s Qpm.iy

g -
A);f P(B )< P{A) B) P({A)< P B)

C) P(A)=P(B) D) P(A)=P(B)

'[f'ﬁ C A, then the relationship between P(Aland P( B }is
Vo

,'!I

A]n;; PIB)<P(A) B)Y P{A)<P(B)

A

g

C P(A)=P(B) D) P(A)=P(B) "

29. ealrﬁsglﬂ—é’cwrr‘ri_e'm g wefiehhwimeo g
ni E(XY) s B(x?) E(y?) B E(xY) = B(x*) EY?)

P4

C) E(xY) = E(x?) E(Y?) | D) @eubmer ergepleremen.

Cauchy-Schwartz inequality is given by
A, B(xY)" s B(X*) E(Y?) B E(XY) = E(X?)E(Y?)

C) E(XY)2=.E(X2)E(Y2) D). None of these.

30.  a.b uaLeTos@ens Qarao fymen uruellen nl B srmefl

A).': 2:._9_ © B) b+a
‘ 2 . 2
2
(b-a) b-a
C) o —— ' D —
) 2 } a-b

Tlie mean of the uniform distribution with parameters a and b is given by

A): b-a B) b+a
M 5 5
2
b-a 3
C): (b-a py P-a
o 2 a-b
X ¥ { Turn over
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31, mREDIOY ureud uTLeTed ursume alGLTE SenL.Ang)

A) n—x,p > 0wHnd np = A { uedguUNHIGHILLL Bt )
B) n--x,p - —i— whHpb np = A ( UETUDGHSHILLL &) )

) n—0,p - 0wbhypb np >0
D) n-—->x.p —>xwbnbnp —>1.

Binomial distribution tends to Poisson distribution when
A) n-—+«.p ->0andnp=x/(finite) DB) n——»oc.p—»%andnp=7x(finite)

C) n—-0,p =0and np -0 D} n—xp —>xandnp — 1.
32.  ugeubug b, G;L'.Gé&ljﬂ'&fﬂupb HenL_dols GLDTHL Ured

A)  SUL ugeue | B)  a&mom Liyeué

C}  @uénieneis LFeud ' D)  sredl Lyase.

The mean and variance does not exist for

A) Beta distribution B} Gamma distribution

C) Normal distribution Di Cauchy distribution.
33. Xuwbpid Y eretin @yor® prase b wrihlaefar @lenenrhs L THH miy Leved

fx+y Jor Osx . ysl

Jix, y) o @eveur el Lmav

@aes elefldly Ml pasalest Qehleys BrritLIGuesT Xx-6br Ly

1 1
A) f(X)=x+Z | B) _f(x)=x+-é-
Q) f(x)=(x+y+l) D) f(x)=x;y.
Il the joint p. d. f. of two random variables X and Y is
_Jjx+y for Osx ysl
f(x‘ y) o othersiwe
then the marginal probability density function of x is
A sl)=xeg B S(x)=x+g
Cl  flx)=(x+y+1) D) j(x)=X;y.

_x[7004 - 101
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34, Bledanayiesenio LG 2 I LY 4Wig
A)r  Quuevilemes L B) sGOUY uFem
" ) 2péeL LT D) Siom uyesd.
The distribution possessing the memoryless property is
A')L Normal distribution B} Binomial distribution
C)jj-‘ Exponential distribution D)  Beta distribution.
35. &gnmﬂ u whmpb ugeupg o, 2 ater gGagud @ GuyedtrL QerEHie Al
h geumiinyy eopdle a@ssiLlL ‘N semaeier wrdflaet X, X, ..., X,. eresfléo
n < o«c-go rHfl ayrefller wyeueTeang
A Quédlere, srmef np whpid wrpuTL Lerene o
G
B) Quevblensn, apmel pnboih orpumli etemel o
o2
C)  @ueblere, egrr&rﬂ 1 oHBED mn@um_L ereméu .
) D} @uedles. gymefl np wHobd wrpT L et no” .
o f X, X . CON X, is a random sample of size n from any population with
' mean u and variance o, the distribution of the sample mean as n — « is
A)_}i Normal with mean np and variance o’
B), Normal with mean p and variance v*
: (32
C). Normal with mean g and variance -
: n
D) Normal with mean nu and variance na®,
36. @a;gpg,&)sq wdlinllesr Glam Gleuetlure g
A) - = whmb ' B) - wpmb O
; C). -1 whmb 1 D)  Owbhmb 1.
Probability can take values between
A) - and x B) -=xand0O
C) -landl D) Oandl.
|

x[7004] [301] [ Turn over
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37. A aerug g Hepe aaile Sipet sLEUUILE Hepssa A Qer@ssiuL A-5@

g ereviley
A}l yghwib B)  gd&mn
C) (g V6060 8 ' D) eeyunyss (PGUTHE.

If A is an event. the conditional probability of A given A is equal to
A) zero B) one
C} infinile D) - indeterminate quantity.

38. epeip prevwmsemer Gy sowsdle aTmOUTWRE, Hdle Llswrer T H®

6w WLHD Sani LughHeres Hleps ey

a3 B L
8 8
1 1

C} — D —
2 ) 8

In tossing three coins at a tune, the probability of getting at most one head is

A) 3 : B) 7
8 8

1 1
C — D -
) 2 } 8

39. Queaflew sumersusardles @D, MD whmib SD @eubiiles allflgome g
A) 5:6:7 B) 10:12:15
C) 2:3:4 D) 15:12:10.
For.a normal curve the QD,. MD and SD are in the ratio
A) 5:6:7 B) 10:12:15

C) 2:3:4 ‘ D) 15:12:10.

x[7004]
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40. P{A )='084. P(B)= 076 wpgd P(AUB) =090 aellé P{AN B ) wdli
A}, 006 B 014
) 070 D) 083
If?;‘?(A)=0‘84.P(B}=0-76andP{AUB }=090then P(ANB )is
Ay 006 B) 014
v
€ 070 | D) 083
41. 'E@@mmg‘, Qeredles Gemunas Qaupaler @b
A r B o
cy _ D) ot
The symbot for the population coefficient of correlation is
Ay r _ B) p
o) B o . D) pz. _
42, yieredip 2 corembwre wHLSEHD WHHID ey wilys@pore y-ub &wors
Qebare ey wdoSe wdoy
A): 10 B} ~10
C). 00 ‘ D) 20.
When all the actual values of y and the predicted values of y are equal the
standard error of estimate will be
A, 10 Bl -10
C)s 00 Dy 20
x [7004] it : 101 [ Turn over
1k ‘
u
B
i
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43. dpecoL weoude e wrpllldr vduou amaipg whp wriiealar wdiysenen

(P HeNHGD (Penn SLGID
A QeyDey LGLUI WY
.B} Qe meyd Glaqp
C) @lemeot wrmLITH

D)  Q@sre iy ugliumiey.

Which of the following techniques is used to predict the value of one variable on

the basis of other variables ?
A) Correlation analysis

B Coefficient of correaltion
C) Covariance

Dj Regression analysis.

44. S ofeopdien wdHilSE S, ererug

SSE SSE
A
S Py RO P
C) . SSE ™ _'?EE.”
(n-2) n-2

The standard error of eslimate S, is given by

SSE SSE

A B e

' g 7 e
C) SSE D) SSE

(H - 2) ' n-2

x 101
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45.  mr6 - Opas Qayals gadlyn
! o

rszoz ]
LNS__NJ

A) . R=1l+

[ e 5 ]
B)  R=I- b?-D
- NN

L

C} "R=1-|-="—

D) ::.R‘-“]-i-

The férmula for rank correlation coefficient is

: [ ~ 7] 7
A) - R=14+ —652 D
= [N° - N
B R-1-|820%
* | N” - Nj
| S F ]
C) R=1-|-%
P hNJ _ N |
, e ]
Dy R-1+|820
: N2 - N|
46. QB 2@ OBTLILE Cawseesd adiinomns @f CeramyGsed Cure UGG
@&@%ﬁnmg}j
A)  Gpfler B) edflen
C) . yHuwbd D} ey,
If both the regression coefficients are negative. the coefficient of correlation
wouldibe |
A) positive ' B)  negative
C) ZEeTo D)  unity.
x[7004] . " [ Turn over
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47.

48.

Gonhs aufés  weopld CpréCemlel  CUTHSZMSNHEG e

EedTUIT (R& eI eL60T

A) Ey'z n-a + bix, ¥xy = asx +b% x?
B) Yy = a¥x + n'b, Txy = a¥ x* + bix
C) (A} wmud (13) @Yyevor(hibd

D) (A) wbpib (B) @yeior(id @)svemen.

@rweuhlaney

The normal equations.for fitting a straight line by the method of least squares

are

A) Xy =n-a+bx, Ixy = alx +b% x?

B}  Zy=aZx +nb, Exy = aXx® + bEx

C) Both (A) and (B)

D} Neither (A) nor (B).

Y =a+bX +cX? +dX® eretim ety @@Uﬂ@@g‘
A o® CriGar®

B}  S@6@ ©arLi sueaneancuany

C) & uyeueenud

D) Qleveu SemeiHgn.

The function Y = a + bX + cX? + dX? represents
A}  a straight line B)  an exponential curve

C) a parabola D)  all of these.

7004
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50.

21 ; ASEN
@i Qam 1y Cursiy CorPecidr sudLT@ast 3X — 4Y + 8 = 0, 4X - 3Y = 1

erefigo X whHmIDd V-6 sal B symedfl

A) X=4.Y-=5

Given the two lines of regression as 3X - 4Y + 8 = 0 and 4X - 3Y = 1, the means
of Xand Y are

o
A) X=4.Y=5
B "X
o x-2 7.3

.3 4

D) - X=1 Y=0.
@L’.@ﬁ)?};& Qo yHwb eefle, 2.1 Qariys Car@aer Greagben @en.Cw
2.eften GonmeooTin

A) B) n

E
2
’ hs

C Q D —.
) o )3

If the correlation coefficient is zero, then the angle between two regression lines

is
A) g B) =«
- - n

C) o oy =
oo | : bog

7004] _ | [ Turn over
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51. dpsaol. eurhdluigeens seuef :

gabm (A) D Qo 2-ld Qaritysd GQawsssllar Quesss srreflCu ol Gpays
Q& (peun @b,

emyeid (R} : UOpap Qeqp wbpid 2Leér  OQsruiy Glawssdlla @i

TCDUTGD.
Gleubgyet : |
A)  (A) whmyd (R) Gy (o &f B) (A) wpmbd (R} Grem(Hid seamy
C) (A) efl, gyevires (R) seumy D) (A) seum. yemé (R) el

Consider the following statements :

Assertion (A} :  Correlation coefficient is the geometric mean between the

regression coefficients.

Reason (R) : The sign of correlation coefficient and regression coefficients are

the same.
Of these statements :
A)  Both (A) and (R) are true B) Botﬁ (A) and (R) are false
C) {A} is true, but (R) is false D) (A) is false, but (R) is true.

52. r-&1 Hlepse Vol gsdlnoreag

vi-r? -l—rz

A) 0-6745 . B) 06745
n n-2
C) 0-6745 (1-r) 5 I
) 0 v/ D) 0-6745 1.
n N

The formula for prcbable error of r is

2

- 2
A 0-6745 ¥1ZT B) 0-6745 Y1=F
on n-2
, l—rz) 2
C)  0-674 D) 0-6745 _.
vn vn

 [7004] [1oT)
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53.  Y.=a+bx, aetip CpiGan @ swenurige b e wdliy Cpit @dwrs @@;bg,rrehﬂ

54.

55.

x [7004]

A)

Al @riag eflos Gureg

C)‘ Qundg @eﬁemem

In*the equation of straight line Y, = a + bx.

Declining trend

;
a

ul

- C)y Notrend

e
¥

B ] eaipres b, yeg

A0

1

If bi,; >1then b, is

A) <1

Cy =1

LBpey Qaweald adhame
1.

A) O=r=<3

C) . =srs()
Ranp:ej of the correlation coefficient is
Al DO=r=3

(3

C) —msr=0

"
e

B)

D)

gn eiflene Curde

@lemeu ByemeT HGID.

if b is positive then it is

B)

D)

B)

D)

B)

D)

B)

D)

B}

D)

Increasing trend

All of these.

-l=sr=sl

O=<rsx,

~-1=sr=s1

Osrsom,

| Turn over
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. 56,

57.

58.

Q6 Sadled 2 mUyse wreyb

Al upows LETGEuld eaTHE 2 niliseT 24 GD

B)  upowd Gsrgdilies 50% @

C) ppuowd Qeredldda 5% eb

D) puond Cgmedile @ LueShlia 2. pliyssT e,

A sample consists of

A) all units of .the population B} 50% units of the population
C) 5% units of the population D) ahy fraction of the population.

wupsows Qsredde o miyse wraybd 2 GEHEMOWTE 66l SHEM6T 2. ST
BlmHSHTE Semeuset wieyb

A)  eububy Weowd Caneddar o piysen

B)  eugbysLw (ppend G]g,rr@é]uﬁ].siﬂ 2 ML &efr

C) shumeysow (ppoind Cargdlsar 2 min e er

D) @eubdles ergepbleimen.

A population consisting of all real numbers is an example of

A} an infinite population . B) a finite populatioﬂ
C) an imaginary population D} none of these.

B sapTi@semLw HapOucisamer Qaram. aaahe Cargameanicr o swbD
LIT 61 & & 61T '

A) 4 ' B) 2
C) 1 D) 0.
The degrees of frcedom for % in case of dichotomised frequencies are
A} 4 B) 2

c) 1 : | D) O
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59. mwig;urrL@ sadletr aigd
N A'):I__ F-uyeue B)  x® -uyeuds
e ‘C) ) Z-UTale D)  t-ugeud.
TN Tl ‘ae ratio between samp‘le variance and within sample variance follows
A}-) F-distribution B} )(2 -distributien
C) z-distribution " D) (distribution.
a 60. sgmg.:sur'réa&a Ga g emeni qsﬁmﬂuﬁ_]me’u Sjeremenlictt als e
e
A)." -1 pgew + 1 B) -~ @pgey + =
0)‘-: 0 apse * | . D) Ows® .
The range of statistic % is
) Al -1to+1 B) -—-xto+=
' &) 0tox | D) Otol.
61. @q;;:’r@é’:&f_ll_ll;l_. GaDOIGHEETs: Goraildamayb
i Quadleoe wueows Ostedsdler  sgrefeefar  sweTuT L

Gargener Goiw F-Gorgemen LuGTLGSSULOF DS

i, ureubuy uel uTbeleer Gergene Qe F-Gergeet LLBTLRSE DS

iii. F Qsrgeeren wrpurl ® elsasdler afés O to »

v. weGap wrnuT@esfledr @
F-Gargenet LwesLRSsLUHS DS .

@eyli)@eﬁ :
A (i) LDL:.@I-.'D .&rﬂmrraﬂgj B)
C). (i), (ii) whgud (iii) e flwresteneu D)

SRR M e K

ug pgenenwenw  Cargener  Glalw

(i} Hmud (ii) efhureseme

3{50 601 & GILD shlurenameu.

[ Turn over
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Consider the following statements :
i Equality of several normal population means can be tested by F-test
i, Analysis of variance utilises F-test | |
iii.  Range of the variarice ratio F is 0 to =

iv.  Homogeneity of several variances can be tested by F-test.

Of these :
A) (iy alone is correct B) (i) and (ii) are correct
C) (i}, (ii) and (iii) are correct D} All are correct.
62, eu@Lesore. ¢ ugeueliedt (peveriemen Sl @ LTEUeNEST Lo 24,G.

A} pesemseaer ol #HBn BU Huyeoi wg

B) (LpEOETT B@H &S & DSHGEMMIL &LOIDTEDT )

C) peverseer el shCm @én[p@g Bl Fluyen ws
D) @yeoanaghég sowmeTg.

The 1ails of the student's t-distribution are .............ocovies. the tails of the
standard normal distribution,

A) slightly heavier than B)  nearly same as
C)  slightly lighter than D)  exactly same as.

63. L essnsefar wrdfll uyeelea gl ey

2
{7 (4]
A —par B i
} \[; _ _ ) on
' 2
C) it : 5) S
2n 2(”- - 1)

The standard error of the sampling distribution of standard deviations is

o o

A) B) -
) 2n

=

c 18] [§2 .
' T P o)
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65.
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@qqn_“{ﬁ}emaumamﬂsisr wrdifiiurae Gueniuyeueybe Hle swmdld Qusen. @bs
i

A); Wpd Laredilies Lraue Gueuluneuen s B)hibsres vl HGW

B}% @@;’5 Qanedhden Ly welLssS Siovuragra G wmhend wl.GGw

C) » s Cargdde urauss G Lseé ioourasis @ohere ol HGw

D} ;f Sean el cuansLTes ppHolaTGHle @ d@d QuIrmbaID.

Th_._(-:}!sampling distribution of the median is very nearly normal. This result holds

Ay

iy only if the population is normal

B) = only {f the populat!on is positively skewed
C) - only if the population is negatively skewed

D}. ~for all kinds of population.

T =5 t{x) . Xgeiennnn, X,) ererugl O-aflelr eb. ee. @ whmd T ( § )yers

@eﬁ@é@&nm@ QgmL uesL.w eriune O eredfie
A Tl )erebrigy T L 0 el a1, 6. u wHUSE
B) Ti{t)eaerug T8 )aler Lﬁ}su;kpmfbg) Ny AN
C) AT () asug T (6 )olld ab. a6, § wduil
D} . @eeu g,qémmg‘;gub.

T = tx,. x3 x,} is a MLE of § and T ( 9 ) is a one to one function of

o, then

A) ;r( t)is a MVU cstimator of T{8)

B) 'T.l t ) is a unbiased estimator of T { 6)
c) _’{f:(t)isaMLEoi;T(H).

D) All of these.

7004 [101] | Turn over
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66.

67.

68.

Gurgionen geocoollen sryesy Cabmid eTeriig
A} greu-UertrsaGleuss Gabmib B) dlgmor-grel Capmid
C)  GsuGBuen-pmist GmbHod D Jeyi-Crlus Gsbmid,

Factorisation theorem for sufficiency is known as

A) Rao-Blackwell theorem B)  Crammer-Rao theorem
C) Chapman-Robins theorem D)  Fisher-Neyman theorem.
X Xpuerrieannn X, ereim gresei b, ol gl tid T, whpd T, eeiuensu I (8 )-

&1 Sopsdlupn wHhiuSi Geer aafles T,-eow UMVUE ear Uetoumpd gCagub o
Blubseardet ougtiuem_ Wl @bl Ceiess Hib

Ay V(T )= V() B V(T,)= V(1)

C)  V(T)=v(T) D) v('r)=v('r;

if T, and T, are two unbiased estimators of I { 6 } based on the random sample

D, ST CUN X, . then T, is said to be UMVUE if and only if
Al V(T,)= V(1) Bl V(T,)s V(T
c) v(1,)= vt D) V(T,)=V(T)=1.

@uslene ppewns Qaredler sgreflew LHII spy sgraefow G
wHIS Gt puliGenade sy sgrsfldiear fpen

A) 64 ssaisd : B) 157 sgelsd
C) 317 sseSad D) 315 ssaian.

Efficiency of sample mean as compared to median as an estimate of the mean of

a normal population is
A) 64 per cent B) 157 per cent

C) 317 per cent D) 31-5 per cent.
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69. grr;c'iytﬁlmné\@su@ Ceipsdlat  omiumLld HoLseh Gonbhs  OTOLIHL
Iﬁ’é)g‘péélmg‘)g)_ Sereney  Spsremd gGagub ok LHIILH enereulleT  aped
QQD@@%@: ‘
Al Lﬁlg)g)éélmgbg) I G sereney B)  puewnwre erefldliud ojenaneu
C). Hpebles LeteNfiudy seremel | D) Gungnome 146;ﬁe1fﬂuﬁ]ugs'u D{ETEDEL.
Rq;éﬁla(:kwell theorem enables us to obtain minimum variance unbiased
*eﬂs_é_iymato_r through
l A)'; unbiased cstlrﬁators . B) complete statistics
C) j efficient statistics D} sufficient statistics.
70. Lll'_l.;-ll.lé.) e igud I 2o Gurgsd. &Gy Q&n‘@é&&ﬂu&@ﬂm GOiGsmens
@'&ﬁrlsv%v@ srﬂumet;w o sows CoinOed
- uigwéo I | g wéy I
a) Uns‘h-&mné@m@ Cabmid 1. Seyi-GpGusst Cabpib '
;b) yerel! i@ 2. R. A Sewi
TH% lc) sy s Cahmb | 3. wrgum @ bSO Senemeuler Sp
Gréuenen
d) eﬁgnwr'r«mrs;h goubledT LD 4. Gumrgomen qsﬁeﬂuﬁ’imeﬁ L ET
@ﬂuf’@&sﬁ:
| a b c d
Ay T 4 2 1 | 3
B) 1 2 3 4
C) l‘ 3 2 4 i
b)' 4 3 2 i. _
x' 7004 . [ Turn over
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Match List I correctly with List H and seleet your answer using the codes given

below :
a)
b}
c)
d)
Codes :
a
Al 4
. B) 1
C) 3
Dy 4

List
Rao-Blackwell theorem
Point e¢stimation

Factorization theorem

Crammer-Rao inequality

2 1 3
2 3 4
2 4 1
3 2 1.

List I1I
Fisher-Neyman theorem

R. A. Fisher

., Lower bound for the variance of an

estimator

Sufficient statistics

71. &peramibd wHi G syememanldlpha BAN wdull @ erasuew GHLNIGs

A} ML odudl @ oeremeu

B) @ophs @&autéEs i@ emaa

C) (A wpd (B) GedoGid

D)  @eubmel &rgieyblévemen.

Which of the following estimators arc BAN estimators ?

A) ML estimators

13) Minimum-Chi-square estimators

C) Both (A) and (B)

D) None of these,

x 7004

101
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72 ,@@;@smg)g;g wipurhn SopsHupp LHNTG Senemeu ’I‘ g1 whHOmrm wHILL.H

! . .&sﬁsmm T, uil@® o&Cp gamrag adn sbHbhe sworer alaLew
(Ba;rrn;@a)@\&,&;mm

e A) ;-v(T,,)=v(T,:) B V(T,)s V(1)
C)  F(A) whoub () @iredor Bid D) (A) obHoud (B) Gliresor Gl @)duemen.

A m:mmum variance unbiased estimator T, is said to be un:que if for any other

e‘;tlmator T,
1. o in

A V(T,)=V(T}) B V(T.}sV(T;)
C)" " Both (A) and (B) D)  Neither (A) nor (B).
73. s Sl alewded Qeredlas L cSasssdie wdilE aafld 248
A) " mpédlwbn whps Spinleran wdHiilirgb
B) Yppédlupp whnd dptiliaiempubn wdif rgo
C) ,.z_‘ﬂg)g)éeﬂusﬁaﬁ whmuo FbaSesrenw wd L meib
D)3 Lﬂg)gpa&ﬂqmm whois Hpliiletennwbn meﬂu&_n@m

N Samplc standard deviation as an estimate of population standard deviation is
A) | unbiased and efficient B) unbiased and inefficient
Y C)  biased and efficient D)  biased and inefficient.
: 74, X Xyeooe X, eiumeal Spaciti. BHPHSaIl UJeIEm L @L U (PUPEDS
* Qar@dudelitnhg 6 GéeHILLL sngy o aild .
' 1 X7 ian* . -
flx)= e’ t-é5t MLE
. (w, )?_‘h B;2n '
- <2
A = B By =
, n n
L o - '2 .
o) | E D) X,
n n
I X0 Xy X, is a random sample from a population f(x)= L it
o4 tv2n
- the MLE for 6 is
8 ) ~ 2 '
aA) = B) =
n ‘ . . n
.2 .
') X D) 2,
n n
x.[ 7004 ‘ 101 { Turn over
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75.

76.

77.

16 @evaayflasmer Qaranil grapiLb e @whe a@setulL  bdliysefe
sgrefl 2.6 aem_ 52 kgs whmyd S L elewssb 36 kgs eran eveuphgis CamesorLime
99% BHLUSHSHH TS HTEOr TOMMNGST (L oo = 295 eranéd Glerers )

A) ( 54-66, 49:345) B) (5266,51:34)

C)- (bb28,48.72) D) { 50-34, 40-36 ).

A random sample of 16 housewives has an average body weight of 52 kgs and a
standard deviation of 3-6 kgs. 99% central confidence limits for body weight in
general are

( leen . t‘l5. o0 = 2 * 95 J
A) ( b4-66, 49-345 ) B) { 52-66,51:34)

C) (5528, 48-72 ) D) (50-34, 40:36 ).

X, eredim &I wapeon Qasred ermeflag

n
A) Lﬂeanpquj)r_D LYAWTA At B) pbusps e ebysL i wdlindiig
C) (A) whHmid {B) @)y Hid D) (A)wbnd (B) @jyeor{in @g’ucmeo. ?

-

The estimator X, of population mean is
n

A) an unbiased estimator B} a consistent estimator
C) both (A) and (13) 1) neither (A) nor (B).
Xy Xgaeeeaaanenns, X, eTesILIg) N(pl. 02) QareHlles E\Bhe dHSSHULLL Sweumiiyé Snp)

aasiico u-afledt Gurmgioren yeiefiucs oioname

A) E(x,—)_c) B)
o Ix Dy Sx-x. .

I X Xy, x, be a random sample from an N(p.. 02) population, the

Six

sufficient statistic for u is

A Y(xa-x) B)
) Yx : D)

S x1

(x-%)".

™

x [7004] |
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78! oAl qen Nppéd ercsg

A) ‘ingr'_rmsma)
B) "’éﬂ'i@r'rmmg)

C) }_: %_ID(Surr gD L §owid

4

ASEN

D)  Guiverpureeur erdlivenpursGoair GlmésemiDd.

Bias of an estimator can be

A)  positive B} n'qgative
C) .. salways zero | . D)  either positive or negative.
79. é}qm@m elimsoﬂs\(ﬂ ......................... & wHIIL. Sa66g .
A) -_Q;@m__‘r‘réélmnscr Loed) B) sdflgs wrd
) [A) oHDID (B) @)y aiorBid D) (A wppid (B) Gresn@id §)dene.
Cnam;_r,;é‘r-Rao inequality is valid in case of
Ly
A)  Continuous variables - B} Discrete variables
C) Bc}llh (A)and (B): D}  Neither (A) nor (B).
80. sybeyl U@éﬂuﬂaﬂ Ly Epsnemib glsaib sebar ugiuaL.did ey
A). @gﬁu cuenall Ulenpuiler syerey B) @ueoiird eusrsl Ulopulear semey
C) " qmsﬂuﬂws\) Syenemerifedt WAL D) Qar@éasiu’ Beren eleuriise.
Area of critical region depends on
% _
A) size of type 1 error - B)  size of type_ 1} E:rKror_
c) VBIJ%IC of the statistic D) numb;er of observations.
x [7004] [ Turn over
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81.

82.

83.

s Gorgpeoe . wrprs a-& . Gergeededr dpomer QuEBLLTHESSS eeieurn

SPLULES g 2

Al 2 &gwGersemer B) grevon_ewd@ Cargamen

C)  Gulev Gengenen D) Pep eumiiy ofss Cergene.
A test which maximizes the power of th_e test for fixed « is known as

A) Oplimum {cst B) Randomized test

C) Bayes test D) Likelihood ratio test.

& eufl bHoId @\ euflé Cargenes Ueteumd gCagub spestanp erihbdlpsdng
A} oD e QG aire B) asaesuwre a@lamer

C) @ sramd er@Bamel D) eaeflowwre aHsre.

- Whether a test is onc sided or two sided depends on

A) alternative hypothesis B} composite hypothesis
C) null hypothesis D)  simple hypothesis.

Sioipé Slubm Ganpeamenbammen Blubseme ( cupssnret @Hi g6 )

inf

N e Prlo)s, I pe) B) o pr() a“gbp],( 8)
C) a:I&',pr(e)zaglé),pTie} D) ﬁzlp ,,p"(e)ze:;nj@,p’(ﬂ}
With usual notations the condition for unbiased test is

B eeqPli)s Pupde) g seq,Prt® }aﬂ?&blpr( 8)
o) HZ%.,P"‘ 8= ag!f@p"[ 6 ) D) 9:‘&.;,01.( 8)= Hg%b p-(8)

x (7004
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85.

86.
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| - .
Qar@senu_Perer (2 x 2 ) Gpiey ulguwellen udtummaulen paflpserem

Gergeesieow sesor Mibseur

A} Cemités Dwite e ' B)  umevae
C) | qQorel D) R A. Sowd.
D

An exact test for testing the independence of attributes in a contingency table of

order { 2 x 2 ) was given by

A) ;IKarl Pearson . B | Pascal

C}) Demoivre ' I))l | R. A. Fisher.
mﬂ@pﬁu@g’_@uuul. Qg Mer @@L_@m@ w LT oo g

A)  i@yawLmid sréunTesd B)  gmpemb udednod
C) ';‘gtbugrrmgi &ZaiHn D) @l Semergib.
The middle value of an ordered series is called

A) ﬁnd quartile ' B) 5th decile

C) .50th percentile D)  all of these.

e (B‘ré-,rrg;smsuruﬁls&? e &&Qﬁgﬁu&:..@

A)  yee auems Henyp

B) . @uaLrh euens LS\GE@

C) M@‘&;e'u m@@d} @Ijsﬁcn_rrio sueslt Sleop

D}  @eubmet o gy lcuemen.

Power of a test is related to

A) type 1 error B) type Il error

C)  both type | and type 1I errors D) none of these.

x [7004 ‘ ' | [ Turn over
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87.

88,

89.

90.

it Sirorer sriTy auphiGeg

A) H, éj[b@jé: L&melieug B)
C) H, uiifl apg Qeiéen s D)
A critical function provides the basis for

A) accepting H, B)
C) no decision about H, D)
uev orpurfeener Gerdlas 2 gab Corgeame
A) i Ge Cargeanan B)

C) F-Gargene D)

H, gbme Camerertsg

EGlemeu DjeNestHGHID.

rejecting H,

all of these.

Qeyfler gevedu Cergenes

t-Gargane.

Homogeneity of several variances can be tested by

A) Bartlett's test B)

C) F test ' D)

Fisher's exact test

t test.

e Quenlmeas Qared srraflaalsa suamear Cardlss 2 gan Cergeaner

A) umi’_ Qeu. Gamgenet B)

C) x? Qengemet D)

F-Ganganen

t Gargenen.

Equality of several normal population means can be tested by

A) Bartlett's test B)

C) 2 test D)

WLTDUTL.(H UGSHSTLSS LWTLRSS0G

CA) F Qergevest B)

C) z Gamgement D)
Analysis of variance utilises

A) F test B)

C) z test D)

w« | 27004 101

F-test

t test,

x* Qe geneot

t Gargera.

x2 test

L test.



91.

92.

93.

37 . : | ASEN

RN . L

af@%p_@&rr@&aﬂuz'_@sﬁm anppsamen ey Qedg sflurares aws :
gporesnd (A) @ eeleudst uFeud erLIT(LHEID swsdi 2 oL LLig).
argeoord (R) :  apeiipTouG W HHiLsele L LS.

@eubper :

A) (A} ohmd (R) Gresn @i eft, (R) ereiug (A) e e funer alenéan
B) § (A)wbpd (R) Gresm®d o), gueme (R) aaug (A) elpe sflure elanssnde
C) . (A) &), gyeormév, (R) seoumy

D). . (A g;m@, ey are, (R) e,

Co?nis"lder the following statements :

Assertion {A} : The given frequency distribution is symmetric.

Reason (R} : Third central moment value is zero.

Nowf':-se}ecl your answer according to the coding scheme given below :
A) Both (A) and {R) are true and (R} is the correct explanation of (A)
B) ° Both (A) and (R) are true, but (R) is not the correct explanation of (A)
C) {A) is true, but (R) is false

D) (A} is false, but (R} is true,

qeﬁdﬂﬂm@ areBTLIE

A)" Y uaLereney efeuris " B)  acseooenemey afleuid

C) - (A)whHopub (B) @)ryedot (Hio D} @eubmeh e geybldvaney.
Statjstics deals with '

A)  Qualitative information B) Quantitative information
c ! Botn (A} and (B) D)  None of {hese.

a eredilig Guow wiurseyb, e gLy gidediu viuraab Gand-réd | a — e

eT 6T
A} 2 ool Senyp B) giovedlwwreot Nemip
C) ' el @éagnaf Slemp D) egreflufemp.

If a is the actual value and e is its estimated value, then | a - e | is called
A)  Actual error B)  Absolute error

C). - . Arithmetic mean error D)  Average error.

x [7004 - { Turn over
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94.

95.

96.

97.

péHlugaieu Hlae saiug ClH@UMLL W eTa

A) Byedormd cuenasls emip B) (e suemal Uley

C)  Gawwrd Jenlp D) S Seop.

Level of significance is the probability of -

A) type Il error , B}  typelerror

C) not committing error D)  standard error,

Crwed -Slwii ses1 Glevibom Glem Hlug |

A} Jepudp Gergamen B) gpmssrerenases G&rgener
C)  Sadlpy-SuGlug Gergene D)  doer euriibg Gargeane.
Neyman-Pearson lemma provides

A) an unbiased test B) an admissible test

Cl minimax test D}  a most powerful test.

oPuiuc L Hlralessd o 2o w Qergdllee Hy:u=py, vs Hy :u>p, e

a(HCeameimefiien Comgpenen Glelw ghHoe
A) t-Gomgement _ B) z2-Q 8 gement
C) F-Gergemer D) x*-Cergeme.

To test Hy:p=p,0s H,:u>p, when the population SD is known.
appropriate test is

the

A) t-test B) z-test

C)  F-test D) x*-test.

9 @lewenr whllyaefler sgrefl Ceaugiur® 15 wprb FLelewssd 5 e, (Wl
Wiy

A) 27 ' B) 9

C) 3 ‘D) Q.

The mean difference between 9 paired observations is 15 and the standard

deviation of difference is 5. The value of statistic-f is
A) 27 ‘B) 9

C) 3 D) 0.

7004
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98.

99.
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sm@@;ﬁ.@g)cqé, Qageiparar (r) Gergmeaie awpwhp Ut el iy

A) n-1 B} n-2

k

C) n D) @eubpet ergeypllcene.

L
The degrees of freedom for testing the sample correlation coefficient r is

i
o

A) ?n—l : ' B) n-2

7, it . ‘
C) [fn D) none of these.

qaﬁ'aﬁeﬂmmb 61 651 LI
A [ gCy & ALY B) @ueun® mé\umssfr
C) ‘:;QLJI‘HUJ iy D) s siLkdu Qergiy.

Data represents

A}  asingle value B)  two values

-
- C)*F P a large value D)  a group of values.

100. &G Qar@ssiu.eren allcurhsenen oy ia Glals

B

E

1) wupens Ceredllear armef g Blaewre wdiy

it} safdler geney yFlewren Curygt wuews Cargdhiar srrefllen gerey
N AL )

iii)  anlan ey eflewren Curg wepownd Qeredler srmefilisr serey
GEODEUTED

Civ) el yeney @opuyd Gurs WPpeIDS @g,rr@@uﬁ]ah sgmafl  oeney

GODUD.
Gleupprer : |
A) | (i} b Qb & flure g Bl (i) vppib (i) eflursraney
C)* (i), (ii) whmo (iii) sflwureremes D) sasgid sflurarame.
X
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Consider the following statements :

i) Population mean is a constant value

ii) Population mean increases with the increase in sample size

iii}  Population mean decreases with increase in sample size

ivi  Population mean decreases with the decrease in sample size.

of these :
A) (i) alone is correct B) (i) and (ii) are correct
C) (i}. (ii) and (iii) are correct . D) all are correct.

101. &@yp Qan@asiu Geien alaunmeamer ey Qeds

i) adled  amaliams @opub Gurg wuweowsd eredda g

allewsaghlan wHiY Gemyb

i)  euflar eavalsosou ofslu@sad Gurg oim  syullegpdlen

- whlleus GenéED

i) eadledr aamatbosamu JHsLURSESD Curg g wTE @mﬁ) anitha,

Slempuiledt ol @enmuyn

iv)  wdlilinflger g ub ambles e eooreodllsenaemn QUIFmEE SeLYD.

Blemayert :
A) ) ol @b eMwuregy B) (i) whHmd (i) #Mwureaseaney
C) (i), (i}) whod (iti) #Rwres eveu D} seoasgd eflureseame.

x [7003
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Cpnsﬁ;c}&gr the following statements :

41

.ASEN

ii Decrease in sample size results in the reduction of population

standard deviation

i) An increase in sample size reduces the standard error

1

:iv] The precision of an estimate depends on sample size.

Of these :
&
A) (i) alone is correct

C) - :(i). (ii) and (iil) are correct

B)

D)

" iif)  An increase in sample size decreases the sampling error

(1) and (ii) are correct

all are correct.

. 102. Glergs wrgd &sﬂm'@qmnmgﬁm Gmpeed Gurgl, n, aaip 2 sew wrdHfl SeTae

LT 11

ot

j-u@e&;a,é»@ (j=1,2. ... k) Qup 2 50 GESETD ( cupdsinren GHSGeHeM6 )

A) ’f.nj=_n'wlsl
__ {zwﬁﬁ]

! 1
) 2
& ny oS
.[Zwﬁ'f]

i, - r

B)

D)

n

wes,

n, = oe—iie

)

nszj

Jz-("é;—;].

With. usual notation, the formula for obtaining optimum sample size n, for the

Jthstratum (j=1,2, ... k ) for fixed total sample size n is
A on, .l B) n,=—24_
I J
. 2 , nw
SR T o) ny - S
J ! ‘
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103.

104.

106.

ereflu sweumiy sam & HEGD gpeop &paigameaibdss 2 galyc s QeduinBelng
A} peuQe aSe ' B) ©Gaéss oD

C}  gredon_ip eretor (pevm . D) @emeu ematggib.

Simple random sample can be drawn with the help of

A) rouleite wheel B}  lottery meihod

C)  random number tables D)  all of these.

N 2 piyser Qareo. pupawsd Qaradie @mba n piiyssr 2 ereneury Hwmbu
ameupslaeT epaoplids Qupssss wrdifeeflea aanaisams

A Mo, By p
C) n? D) n!

The number of possible samples can be drawn of size n each of N population
units without replacement is
A "c, B "P,

C) n* D} n!

Qarggdl uTusabEh gy a@&GD wHiudpeb @erCu 2 aier algdursseg
SPamHLT D! Snpeurtd

A)  waflsl Seop B)  aap er®uy Senyp
Q) eap OOy Sders Slep D) gsdly Seanp.

The discrepancics between sample estimate and population parameter is termed

as
A) human error B)  sampling error
C)  non-sampling error D} formula error.

x [7904] 101
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106. o é?seam&;g?.e‘u 2_effen eréueum WDHLLSHEHD 0D THIPTD, b HevtSdlen Ly

107.

108.

43 ASEN

LA}
A} ygud B)  spety
c) Pyl sl _ D) sansdl. GUaTSHE.

If all.observations in a sel are same. the variance of the set of values is

A} . zero i3j omne

C) |, infinity ' : D)  not possible to calculate.
. :

&\9@?’1 (PEDWITEsT 8nh) eTLL pempulléo

A} ' Neae&ug n-é1 pLusTs: GYHéGiD

B) : N erastugl (p(lp & evor

C) N eiatinig) n-BLe0 euGLi .18, 61euar

D)  @eupmet o gapddenen.

Circular systematic sampling is based on

A) - Nisa multiple of n B) N is whole number

C) - Nis not divisible by n D)  none of these. |

@QL L sl 61 (HHGD (PODEES

A @® Ui Ga) TRHHY YPop B) | @ Hleow san THSSHL (PEOD
C) @ ufloredid sapy T@HSH Pevp D) Gleneu emeHgib.

Dqgible s.arnpling is alsd known as

A) - 1two-;;tagc' sampling B) two-phase sampling

C}  two-dimensional sampling D} all of these .

x [7004]. | Turn over
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109. %mafﬂe\) npGhon ) efléhe saimeug aenmTe
A)  udlée gefliueut @G)evesmenn
B)  udlé syeftueurt mﬂmwm‘uﬁ_qmmw HBHIDL SERIIITSHBHTE
C) udle oeflée wrliug
D) Bl SemaTdgd. -
Non-response in surveys mcan
A) non-availability of respondent
B}  nori-return of questionnaire by the respondents
C} refusal to give information by the respondents
D} all of these.
110, upems saml eTHéGID (pedDIL e@’gpm@fn CUENG & @6l EETIDT &S FaDENID
A) &L QUUTH DD Fal (PeoOD
B) SIMLEOLW Sl (LPEOMD
C) &SL:.G\UUIT@L;GBT Sall)) (LPEOD
D) GCuréssg o sag Sal) (PeEOD.
Stratified sampling comes under the category of
A) unrestricted sampliﬁg
B) subjective sampling
C) restricted sampiling

D)  purposive sampling.

x [7004] 101
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111, N -,ﬁ@aq&eﬁ Oarnai. on weowg Saredddinis n-adnafsasieo oo
]

112,

mn@@mw THesn e, abibe 2.l Ll apepeois Gergdillsr Smssid

N-1 N-n
Ay N-L B)
] qn N . N
¢y . b o) 2=
N n

If we have a sample of size n from a population of N units, the finite population

coerrection is

N-1 N-n

A - B) :
) N : N

cl, n-1 D) N—n.
. N n

Lo
g

Sgeh sap) TRHHQING GDD saD) THES E LD Wl 7

CA) . aeflu snemity endlé SEise SeTS WD

'[})_ ereflw sweuminiy gpeamdlés HmHoyse o

C)  u@ems wrdf PEOD

D) ued sm aBUY @peop

. ;:‘“S

Which sampling design is most appropriate for cluster sampling ?
wd

A)i' Simple random sampling without replacement

B)  Simple random sampling with replacement

C}:  Stratified random sampling

B)  Quota sampling.

7004 |- '
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113,

114,

115.

@ CUITEID HEvey (PIGAHEET HDRIG LDFT‘é;‘fﬂ apean sHoudldemen. golareatld
A) Segsalier Geuniumlige upREG (POD

Bl e@sdla Qarimid 2_pey suwmem wpeopdd @miug

Q) (A) LD['D@JlL'D (B) @q%&m@fa

D) @eubmer ageubaene.

A systematic sample does not yield good results if

A) variation in units is periodic |

B) units at regular intervals are correlated

C) both (A) and (B}

D) none of these.

4 ge@eel 2 den (pewd areddmhs U@ e@ssT 2 areTeurmy
Smpinlemeus@id sip euniiiy (peoplies CorhGleBeHaluED sannseea 6reo cisHme

A) 2 B) 4

C) 8 D) 16.

" The numbers of all possible samples of size two can be drawn from a population

of 4 units with replacement is

A 2 " B) 4

c) 8 ‘ D) 16,

gweuriiliy (peom eep Clsuerarg, Gergean 2 NIILsERHG. Gol Crigd @6dm
Qg b peom ' '

A)  syweurenfler afguuliug B) - aflesurs
C)  sweuminny gpeomuilé ' D) @eubme o giaybleveamen.

Randomization is a process in which the treatments are allocated to the
experimental units

A) at the will of the investigator | B) in a sequence

C) with equal probability D) none of these.

x [7504]
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ld‘ﬁ ;ﬂ@@%@@&eﬁﬂs& 6 GoTNG@E UDEIL (PG| crorrvreereerrereas e BTG 2 (iLieon_ Wl
a@&%&u@eﬂm@.
A)  Gangeven 2.miisefled 6 ctivyeNéen

B) - Gargemen 2 miys@hd@ @)oo Cuuren Guniig

C) é&m@@@uugﬂj)@ 2 flu g® uedH

D) E@mm &mmggfﬁ.

The:‘(;'l;c‘écision about the number of replications is taken in view of
A) ‘.i”size of experimental units

B) écqmpptition among experimental units

) ,giﬁ'action 1o be sampled
7

4

D)  all of these.
117. Gangeven Slenyp ghuL &Tremrd
;
A) é&rr_&,emmmn'arrﬂe&r Slemyp
-

{

B)  Qeuefliyp sryeosfaer

C) '::Q&\h@gbﬁ &4 elemenaysafict wrpLTE
o)

ey

D) _@mﬁjgeﬁ o gieyblevemen.

Exper,i’mental error is due to

B
A) experimenter's mistakes o B) extraneous factors
. .
C) variation in treatment effects D}  none of these.
x {7004 { Turn over
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118, yerefidwés  slcewilar  Neopae, Spacicupbe  adenn  aDHEs

Qanenenliifdlestmey 2
A) gL @)cueuriney
B} N(O. Ui) 6160TD LT 66T &
C) (A) whoubn (I3) Qqsﬁm@xh
D)  (A)wbnb (B) @acafioc @\eemen.
Errors in a statistical model are always taken to be
A) independent
B) distributed as N(0, o)
C)  both{A})and (B)
D) neither (A) nor (B).
119. Qi Crigdlaeie F Loggmn_;,.gsﬁrgjéa@ GEONEUTSE CU(HEUSHHITE &iTTEwoTD
A) QU ®HSHLHNH FWeUT WL (LPenD
B) Qurplu@ssrean araanler Gudy Hlae S Hesemio
C)  geupmenr yeTefldlwe s Lemwlienn Caiey Glelise
D) @ sarsgb.
If F-value for treatments comes oul to be less than one, it may be due to
A) improper randomlzétion
B) non-norrlnality of response measure
C) selection of wrong statistical model

D) all of these.

x [7004] 101
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121.

122,

120.

49 " ASEN

&

E‘Qacf@fp v-QeiBhTSHa@nd GlametiL. sweauminiy &L @wly wpapdle Nepeaemy

=]
Al b(v-1) . B) wvi(b-1)
C) (b-1)(u=1) D) Geupnist & gieBdene.

in thc analysis of data of a randomized block design with b block and
v treatments, the error degrees of freedom are

A)  b(v-1} B) wv(b-1)
C) 4 tb-1)(v=1) ' D) none of these.
@@.%%uhaﬁlm gus'ueﬂu.nb' .......................... serall_iu g

A)  wndifle synefllen allevse aurdans srmefiure
B) '§Lorrélrﬂé syreflflgean_w eleds aitsesd sgreflda athe apassre

C) }imnﬂrﬂ& aymemldles QLZ.L_L'J lempuimé

D) s eprefllgueiw aleds artsad sgrefllidr saep whiume.

' :l‘he-d.preclsion of an experiment is measured by

A) Uthe variance of sample mean
B) ; the square root of the variance of sample mean
C} ,,the standard error of sample mean

D)  the reciprocal of variance of sampie mean.

k @?}U auflens et wppb h Hye cuflensset Qanao,. Gueufl auosluBSHsOLLL
g,gsﬁig‘.b Slemipéamet eueamsy eretor

A (k-1)(h=-1)  B) (hk-1)

). k(h-1) D) hik-1)

In ‘a:two-vﬁay classified data with k rows and h columns, the degreés of freedom
for.e;ror source of variation is

A) (k-1)(h-1)} ' B) (hk-1)

C) k{h-1) | : D)y h(ik-1)

x[7004] . [ Turn over
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123.

124,

125.

PHeeurer aloaasaiar & 66 afl wuostiu@ssiu’ L sralibes Qs iyeLw
g é gosTur(h
A) Yy =+ &y B) Uy =pm+a+ S,

C) Y, =u+ €, ' D) Yy =M+ + B+ €,

For onc-way classified data under fixed effects. the associated linear modecl is
A) Yy =0+ €y B) Yy = +o,+ €

Cl Yy =p+ € D) Uy =p+a, +B+Ey.

h  erfupp  wrefleGussenamw Q_guq&aﬂa’n Seneyset  Guplu@senmen.
speuGloum (B Goaleud k Seraset EHUINeT, EE@PHIDE ..o &N &b,

A enpeflad gylasdl L Heng

B) @\ erjesilest 2 eten o ueypSHlL Heng

C) o sy 2 6ier SLasHLsas

D) ue sryellest 2 een yleybdll L Sens.

Suppose that measurements are obtained for h independent groups of samples
and the number of measurements in each group is k. This situation is related to

A) Factorial experiment B) Two-factor experiment
C) One-factor experiment D)  Several-factor experiment.

B EETLG D0IHE DLHE (Ppopseiad Qursgs syrefevwyd, p, eetug | ereid
pL&E weopda sprefeawuyb editiuemeal aeflé

A) E(M;—I—l)f‘o B) z(p,;-u)<0

) Y{w-u>0 D) Y(w-u)=0.

If pis the overall mean yield of all the treatments and p, is the mean yleld of the
i-th treatment, then

A) E(p,-u):eO B) 2(”:*“)“0

i i

C) N -u)>0 D) Y(u-u)=0.

i i
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126. 6@  (pysOLWIEST  (PETER afl G‘UGG)UUL.E;GD')ﬁ alL Glevpsed  dvOISTLT  augeud
fotrearig. gQemaie .

A)

B)

)

D)

‘m® ueU_keEnd® uders,  m° - 1 Lo  cueru_keSer
: : m

Coereuiupdlesmen

m®  aeru_Esende ufers,  m’ Qe —2—1—— u@gﬁl sueoyLL g Ber
Baemeuiu{e bt menr

m®  euruL_ksEnee uders,  me e —1_;_- u@d  euspuLkisGen
. : Sm

Baemeauriu@dlerpen

. ' 3

m® aueuLheEEe  uers —'%— West ugd  eueruLhsCer
Qg,mmﬁu@a@@m's&r

The advantage of Latin square design over a complete three-way layout lies in
the fact that

A)

B)

C)

D)

127.
A)
B)

C)

D)

instead of m® plots only

instead of m® plots only 1 fraction of m? plots are required
m

L fraction of m® plots are required

2m

instead of m® plots only ——15 fraction of m® plots are required

m .

m’

3
S paumeustteubpuel sryeiléCenpeneanile Loy ergy 2

instead of m® plots only plots are required.

st L Gergene weopler allenenaney u@rf;\b 20w 2 geydlng)

@iw Cergener @smg)&.@e:@ Qe Cu 26en G aleeery  TTW
2 508lpg

gl L Gangenes @mmuﬁ]m Slenetemeu  LHMH .Q;-L[]'ITIU whnid Gersenest
WPDODEEHES @mL_(BuJ 2 eiien @l allevenow srruab 2 sodng

‘ Slempuillel 4 HTOTE aﬁlmrmemmm SO pesbos @& HL.OUUEES 2 safing.

Whiclf one of the following is the property of a factorial experiment ?

A}
B)
<)

D)

x (7004)

It allows one to study only the effect of individual treatment factors
It allows one to study only the interactions between treatment factors

it allows one to study not only the effect of individual treatment factors but
also the interactions between treatment factors

It allows one to study the control of one source of error.
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128. @ sTevd Gigmi it mfﬂm.&uﬂé\: 2. &6 LGS &elr
A)  @uer® ued B) pan uSs
C)  presiE UG D) ehs UGS
A time series consists of
A) two componeﬁts B) three components
C) four componentsl D)  five components.
129, sreg Gereflen pemL sre Gurée eratug |
A)  BIL Girey WDITHDhIGENT B) u@m ST M HDHGHET
C)  apbdl are brHDRGE D) GuemshD wrHohest.
Trex;d of the time series is a
A) Long term variation B)  Seasonal variation
C) Cyclical variation D}  Irregular variation.
130. sl @éerrefiislmhg a@iaiu C allwsds aul&ad sbdeomerg
A 2 &L _sTe g B) @mg)rr'b-gaut'_&mnsm_gj
C)  ygsblub ' D) eghivepurerg.
Sum of squares of deviation about the Arithmetic Mean is
A) maximum B) minimum
C) zero D)  negative.
131, LEsusT WTMGHESHE 6TedTLIG)
| A) ueveuBL STHSING 2L U L ETGD
B) 6 el sresdlbea eHullL are Gl Qeueillie Gararmueaeu
C) o6 brs sreddhes GPLILL sre Ge Geushllé BGgmerpLene
D) @eubmier e geybleenen.
Seasonal variation' means the variations occurring within
A) a number of years B) parts of a year

C}) parts of a month D} none of these.
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132. Qn(ésiuGeter ghgi yeiel elanmseier 15, 24, 18, 33, 42 aper ouEL BoGD

gymefliesn by
A) | 19,22, 33 B) .19, 25,31
C) | 19.30. 31 | D)  19. 20, 30.

For the given five values, 15, 24, 18, 33, 42 the three years moving averages are
E] 8

© Ay:! 19,2233 B) 19,25, 31
C) ; 19, 30, 31 . D) 19, 20, 30.

133. Qen@satulL smppssaensd saallasab :

 TuuTpE  uGausTe  wTpgasoe  aaflu  sgrefl  apeopden epad

} ses1bElGeug Hphsg
ﬂf i ered Qerid ugluriale faoe sre Gurég wHDID &P WITpLTHS 6T
Beveur g G gt
i, sred QsrLi uglumieals SonL sre Cures @épmfrms‘u @\bLiLgl
iti. sreg Ggrd euflasseila & PEY Lp:_r@urr@e_f,sﬁ @\eveurg Guimgy
iv. ared Qg,ﬁt,r'r aflemelldys ghuBd wrbHDReET eder. arewd O sriMer

Lt u@Fe @pld @{l;@ag] Gipeed Curg.

-+

@gu@@éﬁ T

A " (1)l G aflurarg ‘ B) mtb@;{n (ii) &Mwmeremeu
C) ~ (i}, (it} wibmubd (ifi) sflurereme D} eoasab s flureramey.
x _ | [ Turn over
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Constder the following statements :
Simple average method for finding out seasonal indices is good when
i. the time series has no trend and cyclic variations
il. the time series is free from trend
iii. the time series has no cyclic effect
iv. the series has all the components of the time series present.
A) {i) alone is correct B}' {i) and (ii} are correct
C) (i), (ii) and (iii) are correct D) All are correct,
134. umHeusTa LIMGRG@ HaRsSHEHD sfurer (peop
A) erefiu syref apeop B) poewmd sgrefl aldls wpeon
_C) deoL sre Curég alidls e D) paGmDd syTefl apemp
The best method for finding out seasonal variation is
A) simple average method B) ratio to moving average method
C) ratio to the trend method D)  moving average method.
135. By autss paoplie FaoL sre Cursdlaear sasdDse
A)  Bseb sfurearg B} daaun eflureargee
C}  Hsap Senpée 2L’ L g D)  SQIOTeT SEuHaH (PODUTELD.
Least square method of fitting a trend is
A) most exact B} not exact

C) full of subjectivity . D) mathematically unsound.
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137.

%

o gy

: 55 ASEN
a’gt&rﬂu.rrr&: Qun'@ﬁ;gﬁ\@ﬂﬁm@ ?
A};; peoor.. srey Qurddlenes QUITEHSGIHEH — GODES OUTHS PO
B) ! G;rrsug,@g)m_r'r cuflema — m&GD srrem aldle (wpeon
C):  ereflu.syrafl weom - pesorL_gme GLirég Card
D) me@hD gyrartl penn - &Gy DTOIUM R&6fr.

-

Wi ;{ch of the following is correctly maiched ?

A) ’ Fitting a trend ling — Method of least squares

B) ! Time series — Ratio the m;)vmg averages
Cl Simple average method — Fitting of straight line

D) Moving averége method — .Cyc:lical variations.

Qn,&g QmLit uGLLTLalé B & (HLD spreflaar SpaaiLpenmuillé
uv@&&ﬂu@m&@ms\a |

o . .
A); LpeusTe wHpD & pev ITMILIT (& e

A
B) ¥ u®meusren HOID §pRREDD LTNIHeE 6l

C) ' Gumég whHpId &pes WITHILTHieef
D) ' GuTé@ whmib [Fresor.d WIFNISESE.
The moving averages in a time series are free from the influences of

A) » seasonal and cyclic variations B} seasonal and irregular variations
y .

C) * trend and cyclical variations D) trend and random variations.
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138.

139.

140.

Y =a + bx aamn CpiCar’ @ eufldlé b-er wdliny

A)  auGurgih Crifwenm B)  euGurgw edliwem
C) | Griweon wHNID adlivenn D) @euhmelr ergapbevaney.
Value of b in the trend linc Y = a + bx is

A) always positive B)  always negative

C) positive or negative D) none of these.

afwrury Gefliy, obswores sred, efwrury Gertey, oflwrury By LSS,

Gurettpenen Spoco. gRBEID HE HressTLT ugliuTueiles LgH e
A) upeusTe GuTdE - . B)  u@BsusSie DITMseasel
C) SripEv LDIT ML (& 6 D) spupmsHn wrinigeser.

The terms ‘prosperity’, ‘recession’. ‘depression’ and ‘recovery’ are in particular

attached to

A) secular trend : B) seasonal fluctuations

C) cyclic movements D)}  irregular variations.

cueflas o peliet wrouTL Y& preng Lugdedda eflurar cfleamew s ds

A) Qefliy. alpsdl. wheb wHpb BLH B)  efipéd, SLE. Qe Py wHnd LHSD
C)  Gefiy. nheb. a5psd) bpon BLE D) whed, S8, afpss) wbod Qe fliy.
In cyclical variation, identify the correct order of the four f)hases

A) Prosperity, recession, depression and recowfery

B) Recession. recovery. prosperity and depression

) Prosperity. depression, recession and recovery-

D) Depression. recovery, recession and prosperity.
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57 ASEN
5’”&";@ Qe fe amey Hyarey eresiug |
A) spbiiseflen snmefl sreid B)  sppileefiar SfeLLs e
C}l sphéleeflen Gonbsul e Hreaub D)  &phélesiea Curgss sre.
Pe:iiodicity of the time series is the

A)  average duration of the cycles B} maximum duration of the cycles

| C) *. minimum duration of the cycles D)  total duration of the cycles.

@@(@LQ)@G\) yabud aaiLg srevd QL suflemsfler .o EMRTLEOLWE.
A} z Cumée, B)  w{BeusTeD
Cr! eppd D) QuEsDD. .

Which component of time series is related to earthquake in a region ?

Al Trend B}  Seasonal

) Cyclical D)  Irregular.

qeﬁé‘huﬁws‘u @m{buﬂéu srsel GuuTlh o' u'.ann@urr@g SLHULAL(H U] HE@h&aTen
CrméeD '

A) - onpurliged gedewaow aleuflée

B) | Gungresediar wrpur®  Qurmid s Qe meaiens FalGl)  ETELENEVE EHSG ST
ai QUEEAL L EIEE R (W T '

C); Qunpplestlar wrgur® sallibagssbs srraukaaTa  ghuGdlemen.

@evemeowr eradTm) SetorL_Hlw

D} ‘,. @lemen emeor S GI0.

Cm‘;lrol charts in statistical quality control are meant for .
A) " describing the pattern of variation

B} : checking whether the variability in the product is within the tolerance
-~ limits or not

C) . uncovering whether the variability in the product is due to assignable
{ causes or not

D) | all of these.
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144.

145.

S syrafl UL elesan whmd apssorer Hoeure arjadlssies ouguueL e,

a-euendlest & HUUTLH aevamasdel Baig)

A) UCL=S+BS. C-L=S wpom LCL=S~B,S
B) UCL=B,S. C-L=5wbno LCL = B,S

C) UCL=B,S8. CL=5B,whybd LCL = B,S

D) UCL=B,S, C-L =S wpmiv LCL = B,S.

The control limits for u-chart with S as mean standard deviation and usual

constant factors are

A} UCL=S+BS.C-L=SandLCL=S-B,S
B) | UCL = B,S, C-L =S and LCL = B,S

C) UCL=B,S. C-L=B, andLCL=B,S

D) UCL=B,S C-L=SandLCL=B,S.

aupsswre Haoewura arjafsemse &p, R-adiunisgb vHilheb Sl elasab

o-alh@h GeoL. Cuure Clgmii) syeng
A)  E(R)=do B) E(R)=dyu ‘

C) E(R)=Dpo D) E(R)= D,o.

The relation between expected value of R and S.D. ¢ wilth usual constant factor's

s
A) E(R)=do B) E(R)=do
C)  E(R}=Dpo D) E(R}= Do,

x| 7004 101
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'{'?“T‘-E‘;)Je:mg&,cmsrmﬁ]:_ R-sueng el e@mbuliu@eughaoiest sTyeusid

A);ﬁ Sl samipetles R wppd S elledsn Gy wrdiflura wrmuReug
B}l  Reg sauwnns s@1Gilgée apgud
C) R-queniy g6 816860100 601 61611

D)Fa Gemel DT SHEID.

.Igsé-%‘harts are preferable over o-charts because

A} 1 R and S.D. ﬂuctuatre together in case of small samples
BI)-:.. R is easll-y calculable

C) R charts are economical

D) 1 all of these.

&'m.@] apeoplies Gallwe QJnlﬁjase\) WD aGOLILIGESDHST D &ITyerd
A) 26y Cledendle 2 erer flémand

B) | oflué sagw QUL el LITgensasiu@h $e e

C) & QurpLset ey QeuiLid sib Hflefsse

' D) g @emeu et SHID.

Accéptance samﬁlmg plans are preferable due to
A) -' the economy in inspection

B] - proiection to perishable items

C) - increased efficiency in the inspection of items

D) all of these.
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148. p eetp ayd amlhy Galuoe ghnpd Qendieibeagy Hepsealmen STl Gy

msmsnsuslmg 6T 6BT LI

A) OC auemaTeue) B}  ASN cuesencueny

C) &by 6 euemen eue) ' l)‘) @eubmyst & giayddeanen.

A curve showing the probablility of accepting a lot of quality p is known as
A)  OC curve . B) ASN curve-

C) Compertz curve D}  none of these.

149, o6 @alud., goeow &ODOLY wendda ghps el bamqust oy

SESHSULIL-G FaqusT aeiiD PRy O Leushaire sngeod

A} aflles 2 ften @eom 2 muiyseile ccoiatlbens wWHHd ghnd G&reteriL@D

g )
B) gbhmé Oenetenlii dbngu ol LD
C) Ourpsad Qerdearbagu Gopurfsaes &saldpo
D} Qe oD,

The decision about the acceptance or rejection of a lot through a single sampling

plan is reached by considering

A) number of defectives in the sample and acceptance number
B) the acceptance quality level

C) the tolerance percentage defective

D} ail of these.
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lrg*() A LD[DQ}LD B auane, OC quenyaefledt @lem. Gu 2.eter Coumiur ()

Al ":‘.'mé}mur'ﬂ eI Cuir bl whmid #HDKILY Hlepssas el

B) :eupbué@ult. o euybudp @elludisefler Sieraneaus e

W

Yy gi@&:r‘r.@mﬁﬁ wHd o HusHurerfles G Fund

Cl

‘D) f@smcu G0 S B0 .

Type ?} and fype B, OC curves differ from onc ancther in respect of
ll i % .
A)- gihypcrgeometric and Binomial probabilities -
é .

B) . ‘*finite and infinite sizes of the lots
-
"

) ’ﬁ(’:onsumcr's and producer’s risks

D) ?dlf ol these.

0 g{L’.@L’Jun‘@,msmUuL.ggék& QULITE SEPIDUILY veeeeeeeerireenns Q& ITeBoTLBT@ID.

A) ;,[Q&sgpg,aagq 6T GuET U & T

B) {eflui@ aomeasaoen
C) Zés‘ﬂé:&s_&;g,é,& 6T GLEMIEV & 6T
D} :é&:LL@f_lLJH'@ eruEm BV E emen.

The.'géimral structure of a control chart consists of
? .
]

A) probability limits
B) jfsapccificati(m limits
C) itlolerance limits

¢

D)  control limits.

&
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152. oo Qsrfiberoma iy goplide, sealseflsr Gaieay, CQurGLasfiar wrHpD,

smaleamer GUEGUOT (PHOITD SITeRIHGETT ghu@dleim Sy wrbohsst
A) Ourg alemeareysel B} @ueiy allemeneyse
C) @D deagu ellevenayse DY ediurigdore elemeneysel.

In industrial settings, special causes which are due to tool wear, a change of

materials, a new operator etc., are also known as
A) comimon Causes B) chance causes
C) assignablc causes D)  random causes.

153. 2 pusdpopder gphuBd wrpuTh sLOGGET 2 eiaraeur  aeTugene bl

vwestuB&pe

A) @eLfleow euegulbd B} engrefl cusmyuLid

Ci p-euenyLuL D D). T-eUeRTULD,

To check whether process variability is under controt or not, a ....................... is
used.

A) median chart B} mean chart

C)  p-chart D) o-chart.

154. 6@ Gueoyl ugeue epevpliistig Syemwhgieter o Hushls gemdler, wrdfl gymeflle

Y- T RO & &L OLUUTH ahaas@psflaCu Gmési.
A) 997 sl Crynimel B) 954 ssaldls Cruamar
C) 683 sgaldly Gryhsel D} 500 epaldlg Cryhse.

For a normally distributed process, subgrouf) mean will fall between the control

limits
A) 99-7 per cent of time B)  95-4 per cent of time
C)  68-3 per cent of time D} 500 per cent of time.
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1554&?_{__‘[1'31:@@; ;gpemmuﬂsiﬂ Hpemen ugliLmiey &g LsusHd

A) e pusdlapep FLUUTLHDETS B)BE5S Seudlud

'B) LﬁpiJgﬂ(_@mm yeraflflud s @lur_ Gé@sT @msss Seudlud

C) 2 pusdlpen brpur e Ceusfdam L mos Gbése Sedubd
D)l 2.busSlpeD GDhs HaTey wTHLTC oL GaTan( Giheise Jeudlud.

To perform a capability analysis on a process..
5

A) - t-li‘f process needs to be out of control

]

B) rtl'ie process needs to be in statistical control
C) tfge process should not exhibﬁ variability

D) t!}c process should have least variability.

156, p-mmm_;a_g",gﬂe‘u GNies Ceudongw Syenaneuselr

X

A)  wrdlfl e puiybsdildr eacmaflsems wrfldlute Gueed CuTes  HG

%

QUTEED&sS Lgsalla amuaiéams
B)  uqpgeier Gy sefle eraioraiéene
C) ey Qelwiu Gerer Gurplseflle upgeiaaaaaias alldsn

D) tﬁngﬂrﬂ 2 plyssiien aamaiaes wIrpn QUIWE GG CUTGELSHES U@Qmﬂm

6T euoT GG en &
lnl‘a p:of:':hart. the statistics to be plotted are defined by
A)  number of defects per item for a fixed sample size
B) actual number of defective jitems
C) .‘ ratio of defective items to total number inspected

D) rjumber of defects per item for varying sample size.
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157. wrQUmL_Hn STHIENe0 TESILIG o 5@ (peODWTET @GDUTHeen QummL sefle
afaid By@b.
A)  P{p)-0-95 B) P(p)=0-50
¢y Pfp)=0-10 _ D)  PJ(p)=o0.

The indifference quality lgvel is the fraction defective corresponding to which

A)  P(p)=0-95 B} P(p)=0-50
Cc)  Pfp)=0-10 D) P(p)=0.

158. @Geoer Sollayflen allpblu @i Cw_oor St G iwrg

. A) srewrbns Gergemen B} amgexhuorbné Gergenan

C)  apmyé Cergeanen D} owes Corgeaer.
Fisher's ideal index number does not salisfy

A} Time reversal test B) Factor reversal test
C) Circular.tesl D) Unit test.

159. uré@edler @O G redlles BLIY HETH SEeneyseder, HQUUeL Lo
SIETEGHETTH WIHDULILL TE, HsHG SlenL.Oug ' '

A)  eomevSuien @i G et

B)  deyflen @il QL esr

C)  orieye-erl HOleumis @il Gl sto
D) LomSey-Quenedden g Gu_edo .

if we change the current year quantities in Paasche's index number by base year
quantities, we get

A)  Laspeyre's index number
R) Fisher's index number
C) Marshall-Edgeworth index number

D) Dorbish-Bowley's index number.
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160. ersviluflen @BSG whpd LréGedier G CL-cdor Qupsad ayns

P

A) .:Queﬂeﬂuﬂm SO O_awor B) Negflen @l Qs
: % C) e dinrs el OLas D) snded eHSE.
, A The -gje'ometrlc mean of Laspeyre’'s index and Paasche's index is
A) .};150}vley‘s index number B) Fisher's index number
L ;- Q) f’i:l]nwmghtcd index number D)  Chain index.
- 161. B, x fw =1 o8& @@é@mnuﬂ&, JHeoew @O @ eanser OleteumususTeubryel
" agean oud Celus 7 |
A) -.;;a,rrmmn;i)g,u Cargemen B) eangedt wrbrp Cengemen
. Q) %&HJE'D& G&ng,sﬁem D) ueoLwthpé Cergenem.
¢ - if thcfrelallon Py, x‘ P, =1 holds. it means that the price indices satisfy
o | A) Jtime réversal test B) fgctor reversal test
Cy . clrcular test D) commodlity reversal test.
| 162. @j&r'r(gfurrr'r e @S G  eaisanem g@muug,;b@ oo @flly ulguee
amrﬂt;lﬂ@gb.@ Qup CeuesorGid 2
A) Hi dmrrg‘@ efwrunfleei . B) eﬂd:mémrp aflwrur fla e
!' C) | 2erie e sel ' D) durw afleneud s sel,
Wy . _
e 1‘_0 cgnstruct consumer price index, price gquolations are collected from
“A) i Wholesale de%flers B) Retailers
. C) Govcrnménl depots - D)  Fair price shops.
&] x ' (301] { Turn over
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163. D@ ol s Spiiy Heheow auTihs
Ay epref BY #apé Ijerenen
C)  upgeue D) gLy
An index number is a special type of |
A) average B) dispersion
C) distribution D)  correlation.

164. LriSles-Guened eflaves @@ eredor eurbitiun(
A)  areduiut whpp urefl eflae GO E eretnaeflen CLmbe siymef
B)  ersvwi opobd uredl ellewe @Bl @ e sl ga @ symaifl
C) eyt bbpid urad aﬂsms\; G () o ssfs Qumee symea
D)  ereulut whobd urefldler el afane @@Lﬁ_‘_@\ grymeifl,

Drobish-Bowley price index number formula is the

A) Geometric mean of Laspeyre’'s and Paasche's price index formulae
B) Arithmetic mean of Laspeyre’s and Paasche’s price index formulae
C)  Geometric mean of Fisher's and Paasche’s price index formulae

D} Weighted mean of Laspeyre's and Paasche's price index formulae.
165. Qupse cumbiun gemer Slegi o oS @HE G TG 8 2Melss umid
A) 1901 . By 1920
) 1950 D)  1910.
Fisher named the geometric formula as an ideal index formula in the year
A) 1901 B) 1920

Ci 1950 D) 1910.
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168.

67 ASEN
aureudufler @M@ e 324. urefllsr @PAUG e 144 el Seyfer
@O @ rasr
A) 234 ' B) 180
C) 2t D)  190.

Laspgyr;‘:‘s index number is 324, Paasche’s index number is 144. Then Fisher's
index n:g';nber is
A) 2334 ' B) 180
C} 218 D) = 190,
sryeh wihps Cempemen adiugaiien @y
-. P14 x
A) . Do1 X oy = Ep . B) pOIV qu =1
: S oo } _ 01
' : P4y
& Doy XUy, = %p g D) Por % qoy = 1.
oM
Factor.reversal test formula is
Pa, : X
A Py x g =%pq B) _P_Q!T/_.‘_I_Q_LA
oMo (V3]
P49 .
C) Pgy X Upy = %p p D} puxgun=1
' Lt 3
uméé\s&r-immﬁ@m shdleow senall Galyd GHul QW em
A) &rﬁuﬁg&fs QL it @Bl Gl edor B) peewurer Sl @bl G
C) Ourgs Moo @D O etior D) . eurpsenesd Claevey @GHIIL O et
Purchasing power of money {s measured by -
A) chaix_;l_:‘ base index number B) f{ixed base index number

VC) wholesale price index number D)  cost of living index number.
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169. sl () aMever @O GLctor QuInhSspen W GO G\ cmemTes SewaishE
A)  aleowse Cr sedlé Glmose Geusto @i
B) aloessn GeucuGeun sevdleyd Emesmeamn
C) Se@saar srpined afamewse GwhoHseh Couctor@id
D)  Segsae sTihe allaasem @hHs Geuet®ib.
Aggregate price index number is an appropriate i1‘1dex when prices are
A) in the same units B)  in different units
Ci free from units D) depending on units.

170. eSlemey alRgrsamen Qafluliu@sgous

A 0 B Fy100
Py Fo

o L D Foxi100.
P, P,

Price relatives are expressed as

A) Eid B) il x 100
P0 PO

C) L) D) i} x 100.
P, P,

171, eurerodilwien cﬁ]m@ G@OUE [ eretsr Qamesor e sy
A)  Gué Crreadlu Nemyp | B) &) Crreadu Ny
C)  eapupp D)  Seopuy e
Lasﬁeyre‘s price index number has
A) upward bias B) downward bias

C) unbiased D) biased.

x [7004



.

et
s AT
ol

69 , ASEN

172 &,chagfﬂ uorhpié Cenrgene Sepndle@h wrHnhisen

173.

174..

Al Slueol. srehigen _ B) oo wbob eney
C)  fHeopssr D} BLiy whbh sy luenL %Gﬁ@&eﬁ.

Factor reversal test permits the interchange of
A

A}  base periods ' B) price and quantity
i _ :
C) weights : D) current yecar and base year.
%: .
.-'"~ '!&
@ Gudures e Lewlllen 2 gryesond
H
A) @rr 2_(Hheu SHLL B B} @ splenLw s Lol
C)  @f Gerd snips HLL.eiolL D) '@r'r seilg &L eolly.
g

A physical model is example of

*

A)  an iconic model ‘ B} an analogue model
C)  a.verbal model » D) a mathematical model.
71U uLor'.QL'_L_Lb sréz'nugj l ’

"A) Q;!.Jlﬂgj 2_shs SLELUTL(H wpeon

B) Qpngsﬂngng ggjé,efl'_qs&r DETEUTEOT FLPSUTHIFIT (LpemiD

C) el o

D) @mm S{ENETT HGID.

Lmear_g-;'_)rogrammi.ng isa

A) c;q-pstralned optimiéation technique

B) tgchnique for econcmic allocation of limited resources
C) .m?thematical technique

D) aI-i_ of these.
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175.

. 176.

177.

Seteumeven auppie  CraCan @ L lfse Hesamend STULSDE LLGTULTS (PedD

W gy ?

A)  adiorhny HibiGerdey ( simplex ) (peom
B) Garwrflfer qpeom

C) CUENTLIL. (LpEDD |

D) HAduQer&ev penn.

Which one of the following is not useful to solve linear programming problem ?

A) Dual simplex method B) Gomary's method
C}  Graphical method D)}  Simplex method.
SLOUUTOHET  oeerieiereirereieennns aestp UUCHTEG @PIlRemend Oomemg HaED

- QUITps! SETTTEDT W& épﬂ@&uu@&nssuu@aﬂeérg)m.

A) < B) >
) = D) =

Slack variables are introduced when constraints have the sign

A) < B) >
C) z D)y =
I (T (120 SR ereiim ULCHTEES GOIRE s ©ememy HeHED

Quraps 2wl ﬁ:rr@aaeﬁ SN HILEHHILGE 6T peoT.

A) = . B) >

C) = | D) =

Surplus variable is introduced when a constraint has the sign
A) < | B) >

C) 2 D} =

7003
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1 71 ASEN

tﬁle&gs;j;_@mmmgbgjeﬁ CrrGar @ @Luﬂ@gse&e& LTI @) Qumpreg & 7

A) :%\_;,6\'}\@}{%6?@ QUPBIG S SE &g B) aleeruri () saoés

Cy r};urﬂmemwmg';g;é\) D e D) CUIEGas g sw&E.

Which, one of the foliowing does not receive the application of linear

programming ?

A}  Assignment problem B) Game problem
5
C)  Queueing problem D} Transportation problem.

i

Lﬂcmm@m CriaCarl @ i l@ea Hesdlar adterdn Crréss ermle 2 oren

WrHlgeren @eooehiesl

5x, *ffci* 280,6x, +7x, 2100. x,.x, 20 g HlweubHdles &1p 10x, +15x, -89

b6 Sl e g e
A’ Bobpid 7 B) 6 whpid 7
©)  10wppo 15 D) 80 wpmi 100,

. The cldé‘iefficients of variables in the objective function of the dual of the following

LPP :

Minimize, 10x, + 15x, subject to bx, +7x, =80, 6x, +7x, 2100, x;,x; 20

Al 5and7 B) 6and7?

C) 10 and 15 D} 80 and 100.

D wppup P gy &l wepCu afirvrpm, ape CprCar ® Sl éd HesdaapaLw

Crnéas aniyeseflar wdiyser eefle
A) D<P B) D= P'
C) D>Pp i} D=PpP,

If D and P are the optimal values of the objective functions in the dual and
prﬂnalf':L"l'éPs. then '

A D<P B) D=PF

C) D>p D) D=zP

X - [ Turn over
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181.

182.

@gﬂ&&’f@ aphse fesome apuCafluar Wapewd LusTURSE Sy &,rrcwre\ﬂsu
...................... s @YBHGLELTWE 2 6bs HEIESHE6T QUDLILGE e .

( N eaeaug HOOHE HHOULSETUD 2 6TaTLSHEGD LIGUTs:  euemyuiul L.
Car.Qoaandmeidr 55y adnafsosouyd, n  adug  Uadlsee
&1 a1 el drema eyt @blebdlament. )

A) Nen B) N=n
C) N>n D) N <n s6ewg N>n.

While solving an assignment problem applving Hungarian method, the optimal

assignments can be made when

( N : minimum No. of lines drawn to cover all the zeros, n : No. of jobs )
A) N<n B) N=n

C) No»>n D) N<norN»>n,

B RHHEHD snbpﬁh&,e{} Sése  asueurny CpiGarl( HLbPss Heswrs
orHBluenssiuBSlns 2

Al SUGLE wis e

B) 868 wdliyereso

C)  BSuQu®m evevsl 1888y wHLLET e

D) SuQue whmbd $5Hn wdlyse sramrg Hase.

An assignment problem is converted into an LPP as

A) maximization problem

B} minimization pr;)blem |

C) maximization or minimization problem

D) neither maximization nor minimization problem.

x [7004
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@sig&s?@msur—m@@sﬁ S auad Cur iy aeorushle Jenpurs Geanrsg ag ?
A) d@@ PQedD euemeTLID |
B) :f:@GiJGTm"UB Qewaid Grlwmm SiysGHure @léslu@dng

o8 ;t@@U aveors Lsitefwires @mBeuny Glewdast oL wrenh sraeriufodldeane

A D) ! _;@d_lgmﬂ@g Qewgibed e SesQgms @ wey Qg efleursHé
: {,&:rTGD'UILﬂé,&aDuL@eﬁaTgu. :
Wh!cf‘h one of the following is an error is a nétwork diagram ?
A) ;An endless loop |
‘Bi ;}.;Each activity is represented by only one arrow
g
C) f::I,No two activitics are identified by same end points
D) A successor activity is clearly shown to each activity.
184, uf.upﬂué_fu o wigue I 21 Quripsdl, £8p Qar@ssiu Beter @HUlpesamens
@&fﬁéﬁm(p) sfluren efleoLoug CaibOs6 :
uLguwé I : ueaguwes IX
ya)  eHTUmTiY sre Syeme) 1. 96 GCswud @5@6}.}5@)@ wduSH
o ‘ | Qlelwliul L &re yeTey '
b)) Ouflgid eurbiLjemL. sTes
N ey | : 2. HEUIL &Te) eTey
:.c) GrifleoL_ 2 shs sne eTey 3. o6 Qewe Hapasghera agref
: BT eTey '
! _:;d] srilrﬁem_ 2 _5he ST ey 4. epdu ere ey
@gﬁ?@f@mﬁ :
ic'l. b c d
A 3] 4 2
B) 31 2 4 3
c)y 3 4 1 2
D) 4 3 2 .
x [ Turn over
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Maich List 1 with List II correctly and select your answer using the codes given

below :
al
b)
c)
d)
Codes :
a
A) 3
B) 1
C) 3
D) 4

List I

Expected time

Most likely time

Optlimistic time

Pessimistic time

List XI

Estimated time an activity would

take
Longest time
Average time an activity will take

Shortest possible time,

185. qgiésQ sanbE fpbad. sambdla dply aamaur @

A} GuUrsGeaunsa &aTéHE

C) LPP

Assignment problem is a special case of

A) Transportation problem

C) LPP

x Fond

B)

D)

13)

D)

@ik &eoTéE)

awflensg QaTLT HatTdd.

Inventory problem

Sequencing problem.
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° 186. @@,@E)Jn@ eI (100D ) roveieie e 61 oI GET em & B L RIGHen 6T @ LhmyeTen .
. & ;; ) s
‘A) Y tephemmit Lico.
? ’
3) f@rjﬂ.mu_u LiemL
:?5%“ '
*s%. ) D) f@shmg) 5697 Coumy eTeOoIeomITEY UBLILTE.
. %,I
. Every loop hasan .................. number of cell.

% 1‘ st A) g_: odd ) B) even
C) Z€ro D)}  prime.

? - L)

> 187. g@édl G paopdar 2 few Sra) Qup LudTLRD (e

A}, Guomg gpeop

B) * eniemev (PEOD
* . C) » apt@afluer weop

g'l T

D) ;I-_ @eubyst ergiapdidene.

* Th:e;pplimum solution of an assignment problem is obtained by
) ¥
E A)  Modi method
é}“ 3
L B) Charnes method
!

Q) jﬁ Hungarian method

I)‘)_'iq; None of these,
W

x [7004). : ' 101 | Turn over
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188. eumpsena’s UL IgWer HeobsHHLLIHD Gurg ogwreniLg

A)

B)

C}

D)

©Nss auwgdars @niy eldghae wrhellures adean augsHGD 2 g

43

@en® Uintiysensdlen. CGu @puy aldlshiset Frmed uyealerg
S,@6@D Cuatgnsed @iy eldghser &b

@eubpst e gieyfvensy,

Construction of life tables is based on the assumption that

A}

B)

C)

D)

Age specific death rates are constant at all ages
Death rates are uniformly distributed between two birthdays
Mortality rates are same for male and female populations

None of these.

189. & suluuLgdlév (g Qeu@sGnd @b

A)

C)

B}

D)

In flow charts the decision making symbol is represented by

A)

C)

B)

Dj
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4190, B};Sl(l S L gens HeonCeuhmyeray
Co

A);  sbeuer B) @er. i

C)g 2jgblient D) @eubmer ergeylldienen.

E;)%,SIC programme is executed by

o

A):  compiler B) interpreter

B
-

C)y assembler D) none of these.
b .

191. DIM 61 een LLGTLRGSLLGOISE

A)m Leiref] s{ﬂs‘umb STULL L

B)} mrﬂm‘&qsﬁm mn@é)@ hleveoreua sy epgihd( e
C) yersfil afleuy Qeusfliium’ Hée

D) mresd eriyseents Gum.

DI&/I statement is used fo}

A) L. giving data

B) H allocating memory location for subscripted variable
18} + getting output of the results |

D]E receiving the library functions.

192, DATA & _t_eanef
Ty

A)’ 2 eefl (& sl Lemen B)  Qeueflfi_(é s Lemen
C) setew Hlellysd sabmn D) Rlubgenend &L L enen
2

R 'i . .
Dﬁgl\ statement is
4, i

. A) g- An input statement " B) An output statement
. -F:;. £ ' .

C) Declaration statement D) Conditional statement.

x[7004] - [ Turn over
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193, @Hlodi

78

6T T TN e S & @D 2_eler alldlghb

N

C)

The ratio of the number of births to the female population of a specific section in

a given period to the total number of female population in that section is known

as

A)

C)

Quirg smauer aisl B @il e smeven algh

G©&NéHs auwug smeusT elgn D) Gwrgs smeust algb.

Gencral fertility rate B) Specific fertility rate

Age- specific fertility rate D) Total fertility rate.

194. Qgredde o ugdeara Gnoy aldlsn

A)

C)

@duilL. @oly aisb Bl Qaefleupp ooy el

BemerIUBSsILLL alsih D)  Spiy-@puys enldl @ 6.

The death rate obtained for a segment of a population is known as

A)

C)

Specific death rate B}  Crude death rate

Standardised rate D) Vital index.

1956, mhHbuss _Guuurnl (fieag ghp SgllemLowd SHheud

A)

B)

C)

D)

QLTg &(HeueT aigid
GD&e auwg Slpoand speen alsb
Qressd Simboeéd sEeueT aish

Qursg &}qbsuéT afain,

Adequate basis for family planning is provided by

A)
C)

x [7004]

General fertility rate B) Age specific marital fertility rate

Total marital fertility rate D)  Total fertility rate.

ugdlde Quemesiar Jnuy . aadvadlbmadsgd Qurss Ouausefler

-}
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@@*&i@w&@ Qun s Uplideb GDULsa@D 2-efer ajld b

A f.mr‘rg’m Deis B) Glords smeer eldgn
C) ,dnLy-@oiy efle D) Ceredl Gpiy aildlsd.
.

The ;:atio of birth to the total deaths in a year is called

i :
L A) i‘survival rate B) total fertility rate
% B ‘
e
L:.“i " oy
- ;O I:W“;vital index D)}  population death rate.
T Y ' :
L 197, cur,rggéiém&:u g webled wnGiuwi
o 4 i
A) @ eGurT Ll wey B)  @ooul uligue
C) égungpe})em& T EHITUMTUILIL L1 Widd D) @l ena5gin.
. ;
” .'#‘f The life table is also known as
| ,
B B n
A)  ‘survival table : B)  mortality table
C)  life expectancy table D)  all of these.
o i
. & ] i . 1
198. ewow niiy eJab m, aa@Tug g, peunns 2 eien eurbium® ;
SO 2 , 2 l
L A) ;__q_x_ . B) i ‘
{2+a.) (2-4q,)
| 4 q
C) —— D) A
1 (2+4q.) (2-4q.)
- f%_t.l:
* - :
4%3 The central mortality rate m, in terms of g, is given by the formula
A) B} _ 29
(2-4.)
x Y 101] [ Turn over j
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199. P eearug glsr (% UBLGHIG TRHEULULL  WHEHEOSTEE & aTNHnE .

odldlpha  ohe auELsdhe JIng dRbeLL L weEEEACIETEE o atlbHam s

P, 2@, asaiBeu 1nbama1 Qs suatisd) afab r g

A) r=1 —Ri—l B) r= f_l_._]
P] P2

C) r= 5 D) r= L R
P, )

P, and P, are the populations at two Census that are conducted at an interval of

five year, then the rate of population growth r can be estimated by the formula

—

A) r=1-!l~1 B) r= f.l__l
P R

C) r= b D) r= fi‘——l.
R R

200. dereumueupmien Wnifipdy ellugriger &buhsi L eneu
A)  Ynoysel ' B) @ouysern
C) Smpwasitisef D) @6 St SEHID.
Vital statistics mainly concerned with
A) births | B) deaths

C) marriages ' ' . D) all of these.

x [7004]
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Boolklet Series A Register
Number

B

2011 _ n
sTaTisTIcS | LXp-ce <4,

Time Allowed : 3 Hours | { Maximum Marks : 300

Read the following instructions carefully before you begin to answer the guestions,

IMPORTANT INSTRUCTIONS :
1. This Booklet has a cover ( this page ) which should not be opened till the invigilator gives signal to
© open it at the commencement of the examination. As soaon as the signal is received you should tear
the right side of the bocklet cover carefully to open the booklet. Then proceed to answer the
questions.
2. This Question Booklet contains 200 questions.
Answer all questions. All questions carry equal marks.

4.  The Test Booklet is printed in four series e.g. [B] or {See Top left side of this pagel.
The candidate has to indicate in the space provided in the Answer Sheet the series of the booklet.

For example, if the candidate gets series booklet, he/she has to indicate in the side 2 of the
Answer Sheet with Blue or Black Ink Ball point pen as follows :

Al B1(CI (D]

5. You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet.

6. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name. Register No. and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluated.

7. You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point pan
in the space provided on the side 2 of the Answer Sheet. f you do nol ¢ncode properly or iall i
encode the above informaticn, your Answer Sheet will not be evaluated.

8, Each question comprises four responses (A). {Bl. (C} and (D). You are to seclect ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more thon one correct
response, mark the response which you consider the best. I any case, choose ONLY ONE responsse
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

9. In the Answer Sheet there are four brackets [ A ]| B ]| C ) and | D ] against each question. Te
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each guestion in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item, {B) is the correct answer, you have to mark as foliows :

(A)E§ICIID]

10.  You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall durtng the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Questton Booklet with you oniy after the Examination is over.

1I.  The sheet before the last page of the Question Booklet can be used for Rough Work.

12, Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Cornmission may decide at their discretion.

13. In all matters and in cases of doubt, the English Version is final.
14. Do not tick-mark or mark the answers in the Question Booklet.
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